iIath 3hEsehIT BAEFE FMSFE
e 8 8 | ABRJRZSEFR
| & # ] BEOVE |
1 E#—5
MEEES| 101
X D 8 Bl | P 5 8| EEmE | ) 9 8 | ERES
B E b It ERAT I /2512
X B X o b X Hh X £ RN 2R X | HHEENER
ot @ A 85398 m SHEHEE -m g5 B ® - /&
F8ERD 5 DRb B 0.60 km | N\REDSDREEH 0.30 km B == 15 6 &
2 BTN ERE05RS. BUES - RESE - BYSERSEASVEOT—5)
¥ Rk i 5% KBRFEZEMN
B 8 i & - | B & i =R -
2 ) B S RC (#kFa>v1)—h&) [=F= M Qsie] =) 1 B
B EgE 1979 #E| MIERK®ERE 29640 m m =& M Mt =EaEHY
Wl s & 56,529 FA| BHIEHRIRETEE 45999 FM| E i 1E A X 8137 %
%A F # 44 £ it A & | 50 £ E B b X 88.00 %
B E P8 E BELL NP — it It RE - BEE -
XBOmEBOE - BER.
3 EEBE=ET—H
NARTS * = A1)
— H30 R1 R2 R3 R4 T 15 BIEEE X gfiaj:u
3105 | 3019 | 596 677 | 1,410 || 1,761 70 B BE
RN R 28 (M) A R 2% (B
A2 921,188 EANS (RAEa’) 9,499,460
?ﬁ R 210,627 | IR | - B& 184,220
SYZYHIR e e e ] 834,121 Z0it -
(R2~R419) = /3\ g Bl - A B (—f&&%@ 39,564,759
@%ggégu% - 2ot __ 102,572 s =t 49,248,439
SEHICETS IV EF 2,068,508 E3)
wE © | A& 3,531,703 % FIFRE 1 ABENTHREIBE (4111/76H%)
@Egjﬁb i 2 [EoKE 1174406 | 5 | 4423939 M (— @B EHFAER)
NP -2 S [E==ns 41,721,106 | 2 [BR1AZEVEBE
g?gggw‘ 2 |70t 752,716 g" 40256 M (—REE-ESHEEAD)
~ N =R 47,179,931 | &5 |1 mi%=0 GE D2+ (31f1/113HE%
& i (D+©@) 49,248,439 6,978.77 MBI~ LEREDE)
4 FHdIEER
_ =l Bl =7 S | o> < i MO Bl JE2 7Bl
w |THEMEEHY| 10 88.00% 4 594 /115 6 205/ 308
o (FUFSIENER G| BEE  |mm| SEEIRbL |HE|[BR1 AMC0A8EE [HHE H—E XD
6 —As450% | o - 5| 240w /115 | 0| 2/ /115 |0 55/ 407
OL—45F—Fv—K OBIELTIZR
S— WEEA (D [EELIR(D BB L2 () [BE L&)
109 O
#esAa (1) D EYpELE - U —ERFHEBICSUESR
SIRIRHERS
SELIZ (1) : 8YiHbEsE0D. YU —E X SHbISE HEES
>a. 881k, A, RAERE #F
BELxIZ () : BYSHBIEND, T—EZ5HBIESU\FEE
SEH. B¥n. #F5%
BER ”’a@?gm BELGZ (V) BYE - 5 —F 236 E 60 EL 152
S8H. FELE, EE
X1 FESY  BROSHTAPSY. B RERIEERE - Y, TEETIARPL,

*2 SYZYITIR OGS - i, SRARODFBDESETLTNDEH. SEEDNTOTHEERREDIHEN DD,




